Motala Bridgeallians
Motalaserien varen 2023 - rond 1, halvlek 2

IMP over féaltet, 16 bord, 32 par. Antal brickor: 12.

Plac Par Poang Namn MID
1 203 4.62 Lennart Johansson - Joakim Johansson 20178 68245
2 306 3.14 Lillemor Frejd - Gunilla Jansson 5991 9807
3 7 2.85 Monika Oskarsson Birger - Arne Friberg 54582 87627
4 4 1.77 Nils Westling - Lars Forsberg 28355 9726
5 107 1.35 Berit Bjork - Ulla Fogelin 38519 57144
6 301 1.34 Olof Bergstrom - Jan-Erik Thomasson 1200 1304
7 5 1.14 Goran Klaesson - Anita Norrman 46867 17290
8 6 1.12 Anders Hallén - Jenny Bennysdotter 92906 200323
9 302 0.88 Torbjorn Forsén - Dag Johansson 88512 88495
10 104 0.81 Annelie Kaberg - Roger Norrbrink 92626 87654
11 201 0.76 Per-Inge Helmertz - Lars-Eije Svensson 1322 14309
12 8 0.66 Iréne Carlsson - Christina Persson 43498 54792
13 108 0.63 Roland Chorell - Olov Carlsson 44020 43496
14 105 0.42 Viveca Johansson - Yvonne Eldh 6903 83384
15 2 0.13 Charlotta Jonsson - Eva Fremner 86566 56334
15 303 0.13 Krister Lennartsson - Karl-Evert Johansson 1116 12881
17 103 -0.13 Roland Karlsson - Alf Thorell 6595 4151
17 202 -0.13 P-G Igelstrém - Klas Eriksson 1391 1254
19 305 -0.42 Anita Egir - Birgitta Corell 31989 40486
20 308 -0.63 Ulla Samuelsson - Birgit Hedstrém 49327 65249
21 208 -0.66 Rolf Kling - Birger Andersson 82510 44025
22 1 -0.76 Mats Sjoberg - Carl Ragnarsson 1198 2498
23 304 -0.81 Kjell Abrahamsson - Birgitta Abrahamsson 87408 81435
24 102 -0.88 Leif Lyngmo - Johan Johansson 85153 83995
25 206 -1.12 Birgitta Wirén - Ulla Folkesdotter 17568 83382
26 205 -1.14 Inger Strindler - Marita Larsson 37902 44030
27 101 -1.34 Lars Persson - Bosse Johansson 84155 20119
28 307 -1.35 Bo Persson - Sune Thudén 65262 49330
29 204 -1.77 Hans Olsson - UIf Tornell 3183 9729
30 207 -2.85 Tonny Vreeswijk - Birgit Andersson 200322 57142
31 106 -3.14 Borje Allard - Nina Allard 82452 82451
32 3 -4.62 Christer Edestedt - Hikan Andersson 6502 999
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105 305 5¢DV-1 v8 200 134.0 -134.0( 2 202 3NS= +K 400 112.0 -112.0|101 301 3NV-3 «J 150 127.0 -127.0
7 207 1v S+1 ¢J 110 110.0 -110.0( 3 203 3v V-3 «4 150 240 -24.0 1201 3NV-1 42 50 98.0 -98.0
108 308 1v S= &4 80 103.0 -103.0| 4 204 INN+2 v4 150 240 -240| 5205 4v0O-1 #4 50 98.0 -98.0
103 303 3v S-1 #4 -100 46.0 -46.0 7 207 2NN+1 2 150 240 -24.0|107 307 34 S-1 ¢A -100 47.0 -47.0
107 307 3y S-1 #4 -100 46.0 -46.0|102 302 2NS+1 ¢K 150 240 -240| 8 208 3y O= &A -140 31.0 -31.0
104 304 34 O= ¢7 -140 30.0 -30.0|104 304 3v O-3 #7 150 240 -240| 4 204 3vO+1 4A -170 18.0 -18.0
102 302 4¢ V+1 ¥8 -150 28.0 -28.0/108 308 34 S= v9 140 210 -21.0|106 306 3y O+1 ¢7 -170 18.0 -18.0
4 204 3v S-2 &4 -200 70 -7.0 6 206 INN+1 2 120 10.0 -10.0 7 207 34 S-2 ¢A -200 80 -8.0
5205 4v S-2 ¢A -200 7.0 -7.0(105 305 INN+1 %7 120 10.0 -10.0|105 305 34 S-2 ¥8 -200 8.0 -80
8 208 3vS-2 ¢A -200 70 -70| 8 208 24 S= +¥8 110 80 -80|108 308 34 S-2 ¥8 -200 80 -80
106 306 4v S-2 #4 -200 70 -70| 5205 3v0O-2 ¢A 100 -1.0 1.0 2 202 3NV= 42 -400 -64.0 64.0
1 201 4¢vDS-2 %4 -500 -90.0 90.0|107 307 2v O-2 ¢5 100 -1.0 10| 3203 4vyO= #4 -420 -75.0 75.0
2 202 3vDS-2 &4 -500 -90.0 90.0 1201 3vyV-1 v4 50 -22.0 220 6 206 4v O= #4 -420 -75.0 75.0
3 203 3yvDS-2+A -500 -90.0 90.0|101 301 2vy O= +A -110 -77.0 77.0|104 304 4vy O= &A -420 -750 75.0
6 206 4vDS-2 #4 -500 -90.0 90.0|103 303 2v O= ¢A -110 -77.0 77.0|102 302 4v O+1 #3 -450 -86.0 86.0
101 301 4vDS-3 #4 -800 -165.0 165.0|106 306 3v O+1 #A -170 -103.0 103.0 (103 303 4v O+1 «A -450 -86.0 86.0
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103 303 44 N+3 «T 510 780 -780| 2 202 6NO-1 T 50 100.0 -100.0( 4 204 1& S+2 vA 140 450 -45.0
104 304 44 N+3 T 510 780 -780| 4 204 6vyV-1 ¢A 50 100.0 -100.0( 5 205 24 S+1 vA 140 45.0 -45.0
2 202 5v N+1 «T 480 66.0 -66.0 6 206 6vy V-1 ¢A 50 100.0 -100.0 (104 304 14 S+2 vA 140 450 -45.0
7 207 44 N+2 &6 480 66.0 -66.0/102 302 6v V-1 43 50 100.0 -100.0 1201 24 S= vA 110 29.0 -29.0
1201 4v S+1 #J 450 55.0 -55.0|104 304 6v V-1 ¢A 50 100.0 -100.0 2 202 24 S= vA 110 29.0 -29.0
3 203 44 N+1 T 450 55.0 -55.0|106 306 6NV-1 43 50 100.0 -100.0 (102 302 24 S= vA 110 29.0 -29.0
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6 206 44 N+1 T 450 556.0 -55.0|107 307 INV+3 43 -180 21.0 -21.0|101 301 INO-2 42 100 29.0 -29.0
105 305 44 N+1 ¢A 450 55.0 -55.0(108 308 3v V+2 ¢A -200 15.0 -15.0(103 303 INO-2 42 100 29.0 -29.0
5 205 44 N= ¢A 420 410 -41.0| 5205 4vO+1 T -450 -75.0 75.0| 6 206 14 S= vA 80 18.0 -18.0
102 302 44 N= T 420 410 -41.0|101 301 4v O+1 6 -450 -75.0 75.0| 7 207 3#0-1 ¢2 50 20 -2.0
107 307 3v S+1 #J 170 -42.0 42.0|103 303 4y O+1 T -450 -75.0 75.0|107 307 1v V-1 «Q 50 20 -2.0
108 308 3v S= #4 140 -540 54.0|105 305 4y O+1 T -450 -75.0 750| 8 208 24 S-1 vA -100 -53.0 53.0
8 208 44 N-1 +A -50 -115.0 115.0| 7 207 4vy O+2 ¢9 -480 -840 84.0(105 305 24 S-1 vA -100 -53.0 53.0
101 301 44 N-1 8 -50 -115.0 115.0| 1 201 3NV+3 #3 -490 -840 84.0(106 306 24 S-1 vK -100 -53.0 53.0
106 306 44 N-1 &6 -50 -115.0 115.0( 3 203 3NV +3 &3 -490 -840 84.0(108 308 24 S-1 vA -100 -53.0 53.0
4 204 64 N-4 T -200 -149.0 149.0| 8 208 3NV+3 #3 -490 -840 84.0| 3 203 34S-2 vA -200 -90.0 90.0
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103 303 4v N+1 ¢2 450 73.0 -73.0|101 301 6+ O-1 «J 100 187.0 -187.0|107 307 3# O-2 ¢A 100 117.0 -117.0
5205 3NN+1 #9 430 60.0 -60.0| 7 207 3¢ O+1 #2 -130 145.0 -145.0| 1 201 4vO-1 «A 50 98.0 -98.0
1201 4vS= &5 420 60.0 -60.0| 8 208 3#O+1 #2 -130 145.0 -145.0| 7 207 2#0O-1 42 50 98.0 -98.0
2 202 4v S= &5 420 60.0 -60.0| 5 205 4vV= 42 -620 10.0 -100( 8 208 4v O-1 4A 50 98.0 -98.0
4 204 4v N= T 420 60.0 -60.0|108 308 4v V= T -620 10.0 -10.0{105 305 3NO-1 48 50 98.0 -98.0
6 206 4v N= &A 420 60.0 -60.0| 2 202 4v V+1 43 -650 -4.0 4.0|108 308 3y O-1 ¢A 50 98.0 -98.0
101 301 4y S= &5 420 60.0 -60.0|102 302 4y O+1 #3 -650 -4.0 40| 6 206 3vy O+3 ¢A -230 50 -50
102 302 4y N= &A 420 60.0 -60.0| 1 201 4vV+2 «4 -680 -150 150| 2 202 4vO= &A -420 -60.0 60.0
105 305 4y S= &A 420 60.0 -60.0| 4 204 4vV+2 7 -680 -150 150 3 203 4v O= T -420 -60.0 60.0
106 306 INN+2 #A 150 -43.0 43.0|103 303 4y V+2 42 -680 -150 15.0| 4 204 4vy O= +A -420 -60.0 60.0
3 203 3v N= 7 140 -43.0 43.0|104 304 4y V+2 vA -680 -150 150 5 205 4vO= ¢A -420 -60.0 60.0
7 207 3vS= K 140 -43.0 43.0|107 307 4y V+2 42 -680 -150 15.0|103 303 4y O= ¢A -420 -60.0 60.0
8 208 4v S-1 &A -50 -106.0 106.0| 6 206 3NO+3 4J -690 -16.0 16.0(106 306 4v O= ¢A -420 -60.0 60.0
104 304 49 S-1 A -50 -106.0 106.0|106 306 3NO+3 48 -690 -16.0 16.0(101 301 4y V+2 ¢6 -480 -84.0 84.0
107 307 4y N-1 #A -50 -106.0 106.0| 3 203 6y V= 42 -1430 -190.0 190.0 (102 302 4y V+2 ¢5 -480 -84.0 84.0
108 308 4v N-1 #A -50 -106.0 106.0|105 305 6NV = 42 -1440 -192.0 192.0(104 304 4y V+2 ¢4 -480 -84.0 84.0
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Ost v KKn32 ANT O =-630 Syd v K632 4v V =-620 Vast v D432 ANT V =-430
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 206 6¢ O-3 ¥v7 300 152.0 -152.0| 8 208 3NV-1 «3 100 121.0 -121.0|104 304 3NS+1 «T 430 175.0 -175.0
4 204 6¢ O-2 #2 200 126.0 -126.0|108 308 2y V= #3 -110 56.0 -56.0| 4 204 44 O-2 #8 100 110.0 -110.0
8 208 44 V-2 92 200 126.0 -126.0| 4 204 2NO= 4T -120 52.0 -52.0|103 303 4v V-2 +5 100 110.0 -110.0
7 207 24 S+1 v2 110 102.0 -102.0 103 303 INO+1 42 -120 52.0 -52.0|108 308 3#V-1 ¢Q 50 92.0 -92.0
5 205 44 V-1 4 100 102.0 -102.0( 5 205 3&#V+1 ¢4 -130 50.0 -50.0| 7 207 24 O= ¢4 -110 43.0 -43.0
105 305 44 V-1 ¢3 100 102.0 -102.0 {104 304 3+ V+1 ¢4 -130 50.0 -50.0(105 305 2NV= 3 -120 37.0 -37.0
107 307 44 V-1 v2 100 102.0 -102.0|107 307 2y V+1 #3 -140 440 -44.0|107 307 3#V+2 v2 -150 28.0 -28.0
1201 3NV= &5 -600 -770 77.0| 6 206 2#V+3 ¢4 -150 420 -420| 1201 3NO= 6 -400 -60.0 60.0
104 304 BNO= &2 -600 -77.0 77.0( 7 207 2NV+1 #3 -150 420 -420| 2 202 3NV= 3 -400 -60.0 60.0
108 308 3NV= ¥3 -600 -77.0 77.0(101 301 3#O+2 4«3 -150 420 -420| 6 206 3NO= ¢4 -400 -60.0 60.0
2202 3NO+1 #8 -630 -86.0 86.0| 2 202 INN-2 &6 -200 21.0 -21.0{ 8 208 3NV= #4 -400 -60.0 60.0
3203 3NV+2 v2 -660 -990 99.0| 3203 3NV= 44 -600 -108.0 108.0|102 302 3NV= T -400 -60.0 60.0
101 301 3NV+2 &5 -660 -99.0 99.0(102 302 3NV= ¢4 -600 -108.0 1080| 3 203 3NO+1 ¢4 -430 -71.0 710
102 302 3NO+2 v5 -660 -99.0 99.0(105 305 3NV= 42 -600 -108.0 1080 5 205 3NO+1 ¢4 -430 -71.0 710
103 303 3NO+2 T -660 -99.0 99.0(106 306 3NO+1 ¢Q -630 -119.0 119.0|101 301 3NO+1 v6 -430 -71.0 71.0
106 306 SNO+2 47 -660 -99.0 99.0( 1 201 3NV+2 ¢3 -660 -129.0 129.0(106 306 3NO+2 «4 -460 -82.0 820
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